H|E

At2H(171/300~3509) 31 | -0.94%

Bl (171/650~700g) 98 | -2.52%

F(171/1kg) 71 029%

Hi 2=(1 2 7] /3kg) 91 147%

CHOt(1 5= /1kg/2H 7t A) 54 | -1.55%

20I(37H) 120 3.07%

T} K| 07| (=4t 4 A /6009) 187 | -1.05%

sETUE S07[(102]/1kg) 162 | -2.00%
(16E5) 2 07| (=4t/=HE| %X /1855/6009) 390 | -1.15%
2|1 7|(=4t/&4/6009) 1,637 2.57%

= ZF(1 8D 2H/307H) 4 -0.05%
Z7|(10t2[/=4F/15cm) 39 | -2.42%

ZrX[(10t2] /= 4t/80cm) 204 4.11%
1.50{(10t2|/=4k/30cm) 182 | -4.77%
HEH(10t2]|/2{ Al OFLE/40cm) 142 | -3.10%
27F0{(10t2|/31=/30cm) 56 | -1.02%

4H(20kg) 724 1.21%

He|&(=4/1kg) 70 2.12%

If(1kg) 56 | -2.19%

7HOb= (1kg) 8| -0.09%

LI (T HE/1kg) 25 1.20%

E(12/300g/ Y4t/ +7‘*X1|a) 41 -027%

Mo s M%%(msu%?l =) 149 1.76%
2= =7 PT(1 kg/=rLi4h - 628 | -2.14%
D1| S(Tkg/=LH4h - 211 | -2.09%

%.*Xm kg/=LH4h - 91 | -2.33%

SL=(18/5009) - 179 | -642%

LFAL) 8 0.45%

40 7 0.42%

s+w(10) 4 0.29%

== j‘iﬂ B 360me/204H) 14 0.95%
4 2= (18 500me/2 00 H) 18 1.10%




